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28| 8A 198 (FKRIEHEK(7AMD) 990 2,850
29| 9R1BH|2~BFE(BASM) 1,887 4737
30 9A1B|ABA#FHE(G6ASR) 1,887 6,624
31 9A1B|2AMFE(7TASS) 1,887 8,511
32| 9ABH|ABRAFEBAD) 1,887 10,398
33| 9A9IR |FEHEFK(BAD) 990 11,388
34| 10A18 |FKREFHEK(QAD) 990 12,378
44|10 298 |FiEFEK (10A D) 990 13,368
45(10A31 8 | 2BAFHE (9 A7) 1,887 15,255
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47| 12A58 |FEHFBK1AD) 990 18,132
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70| 3278 |FREFHEK(2A D) 990 24,876
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74| 3A31H|ABAFEIA S 2,270 32,676
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39| 9A10B(R¥—k2+28A R 18,905 127,922
40( 10A18|Wi-Fis8A % 3,960 131,882
49(10A16 B |RX—r74+> (9AH) 13,331 145,213
50| 1MA1BR|AVIHKTAS) 11,925 157,138
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57(12A198 |RIRWi-Fi(11 A 53) 3,960 238,050
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78| 3A10B|RY—+T7+2 2R % 13,334 353,202

1/2



zmgs| A H NE IRA X RE(RED | BE
79| 3A31B|AVIVHKIAR 17,619 370,821
82| 4A10B(R¥—k2+23A %R 11,877 382,698
80 4A11B|&MRWi-Fi 1.2A% 7,920 390,618
81| 4A11B|RIRWi-Fi 3A % 3,960 394,578

2/2



